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% Rational number:-

A number which can be expressed in forrr 5 where p and g are integers and g is not

equal to 0 is known as rational number

. numer r
Rational number= L_ato= P
denominator ¢
e Positive rational number:-
A Rational number is said to be a positive rational number if numerator and

denominator have both same Signs.

Example:- —‘51 and 13—0 are positive rational numbers.

e Negative Rational Numbers :-

A Rational number is said to be a negative rational number if numerator and
denominator have different Signs.

Example:- 76 and % are negative rational number.
Additive identity: -
Let a be a rational number
thena+0=a=0+a
Example: leta =5/6
a+0=5/6+0=5/6=

a

O+a=0+5/6=5/6

=a

Here a+0=a=0+a

e Additive inverse:-

Let a be rational number
then a +(-a) =0 Let a =5/11
a+(-a) = 5/11 +(-

5/11)
a+(-a)=5/11 - 5/11
a+(-a)=0

Q1. Simplify:

1/4+2/3-1/6 X4/5
1/4+2/3 -2/15

= 15+40-
8
60
= 55-8
60
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60

Q2.Represent the following rational number on number line.

a) 7/9c)-4/7
Solutien-

Q3. Find 7 rational number between 0 and1

. 0.8 0 1 8 8
Solution- 0==-x—-— == also 1=-x —=—
1 8 8 1 8 8

7 rational numbers between 0 and 1are:

1/8,2/8,3/8,4/8,5/8,6/8,7/8

Q4. Solve

9 18
If =x =-—, then x =
5 5
Answer:2
Question5: 1is a___rational number.
Answer:
The given rational number 1 is positive number, because its numerator and

denominator are positive integer.
Hence, 1 is a positive rational number.

Q6. Arrange therationalnumbers W —8* =3+ 15 inascendingorder
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Answer:

Given rational numbers are _Tai £ =3 '_3

To arrange in any order, we make denominators of all rational numbers as same.

~ LCMof10,8,3 4and5is 120.

So —?5::12‘ 5:{15' 2x4ﬁ‘—1x3D'—3x24

' 10x12 -8x15 -3x40 4x30 5x24

-84 75 80 -30 -72

120 ' =120" -120' 120 ' 120
-84 -75 =80 -30 -72
~ 120" 120 120 120" 120
Since, denominators are same, so ascending order of numerators are — 84, — 80, - 75, - 72,
- 30
Hence,

—Bd{wﬂﬂ{-Tﬁ{—?Z{-SD
120 120 120 120 120

-2
Q7. What should be subtracted from = to obtain the nearestinteger?

Answer:
Given rational number is _—;
We know that, nearest natural number of _—; is -1
Let x be subtracted to 13-2- to obtain - 1.

-2
Then, —S-u -x=-= 21 1
= = ? +1==

So, we subtract % from %tn get the nearest integer.
Q8. What should be multiplied with T to obtain the nearestinteger?

Answer:

Let number be x.
5

We know that, nearest integer of - 5 is =1
According to the question, _TF Xx==1
8 _8
== x=—-1x_—_=—
-5 5

Hence, the required number is g
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Q9. What should be divided by _-2_1’[0 obtain the greatest negativeinteger?

Answer
Let the number be x.
We know that, greatest negative integer is -1
According to the question,
1+:c=-1
2
T s i
=) —X—==1 sreciprocal ofx = —
2 x X
= l:-h:g
x 1
- 128
. S
= il
2
Hence, the required number is '?1
Q 10.Simplify:
(1) 12 x—_14+Exi+——~—_Hx§
11 5 11 & 11 5
erXB 1x§
3 5 T &5 7
Answer:
{i}Giuen,Exﬁ+Exi+lﬂxE
11 5 11 5 11 5
_13x(-14) 13x(-7) (-13)x34
i1x5 1M1= 5 MM=xs
_-182 _ (-91 442)
55 55 55
55
=ﬂ=—13
55
e 8. 8.0 3
{ii) lean,gx? 5"?
_6x3_1x3_18_3
35

- [dividing numerator and denominator by 5]
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Q11. In each of the following pairs represent a pair of equivalent rational numbers, find the
values of x.

(i) (2/3) and (5/x)

(i) (-3/7) and (x/4)

Solution:

(i) Given (2/3) and (5/x)

Also given that they are equivalent rational number so (2/3) = (5/x)
x=(5x%3)/2

x = (15/2)

(i) Given (-3/7) and (x/4)

Also given that they are equivalent rational number so (-3/7) = (x/4)
x=(-3x4)/7

x =(-12/7)

Questions for practice:

Q1. Find any five rational numbers less than 3.

Q2. Find ten rational numbers between 1/4 and 1/2.

Q3.Verify the property: x +y =y + x by taking x =-5/3 and y = 7/5.

Q4. The sum of the two rational numbers is -8. If one of the numbers is -15/7, find the
other number.

Q5. Verify the property: x + (y + z) = (x +y) + z by taking x =-7/3,y = 8/5and z = 5/9.
Q6. By what number should -33/16 be divided to get -11/4?

Q7. Verify the property: x x (y+z) =xxy+x x z by takingx =-3/7,y =12/13and z = -
5/6.

Q8. What number should be added to -5/11 so as to get 26/33?
Q9. Verify the property: x x (y x z) = (x x y) x z by taking x =-7/3,y = 12/5 and z = 4/9.

Q10. What number should be subtracted from -5/3 to get 5/6?
Q11. By what number should we multiply -1/6 so that the product may be -23/9?

Q12. Divide the sum of -13/5 and 12/7 by the product of -31/7 and -1/2.
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